


Motion

If a body changes its position it is said to be moving else it is at rest. Motion is always
relative to the observer.
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DISTANCE AND DISPLACEMENT
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. Distance is a scalar while displacement is a vector.

. Distance depends on path while displacement is independent of path but depends only on final and
initial position.

* amg) Fora moving body, distance can't have zero or negative values but displacement may be +ive, —ive
or Zero.

. =) For amoving/stationary object distance can't be decreasing.
-q If motion is in straight line without change in direction then
distance = |displacement| i.e. magnitude of displacement.
. Magnitude of displacement may be equal or less than distance but never greater than distance.
q distance >|displacement|
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A particle goes along a quadrant from A to B of a circle radius 10m as shown in fig. Find the
direction and magnitude of displacement and distance along path AB.
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